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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 37 questions. All questions are compulsory.
(i) Question paper is divided into SIX sections — Section A, B, C, D, E and F.

(i11) Section A — Question number 1 to 20 are Multiple Choice type questions.

Each question carries 1 mark.

(iv) Section B - Question number 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

(v) Section C — Question number 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

(vi) Section D — Question number 30 to 33 are Long Answer (LA) type
questions. FEach question carries § marks. Answer to these questions

should not exceed 120 words.

(vii) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viit) Section F — Question number 37 is Map SkRill based question with two
parts — 37(a) History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5§ marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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SECTION - A (20 x 1 =20)
(Multiple Choice Questions)
1.  Choose the correctly matched pair : 1
I I1
(Multi-purpose River Project) (River)
(A) Gandhi Sagar - Chambal
(B) Hirakud —  Godavari
(C) Nagarjuna Sagar —  Kaveri
(D) Salal —  Beas
2. Which among the following crop is known as ‘Golden Fibre’ ? 1
(A) Cotton (B) Wool
(C) Jute (D) Silk
3. Read the characteristics given in the box and identify the type of coal from
the option given below : 1
o This 1s low grade brown coal.
o The principal reserves are in Neyveli in Tamilnadu.
o It is soft with high moisture content.
Options :
(A) Pit Coal
(B) Anthrasite Coal
(C) Lignite Coal
(D) Bituminous Coal
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B) wad I, IS IVEEE |
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(A) % e 1 T Sl S@ET < § |
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(C) & heret Tt TefTfired <hl Tehfet <hl Sigranl 2T B |

(D) I7 AT I FGTET <1 2 |
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Which state of India has the maximum area under permanent forest ? 1
(A) Haryana

(B) Himachal Pradesh

(C) Punjab

(D) Madhya Pradesh

5. Belgium took some measures to solve its problem. Read the following

measures and choose the correct option : 1
I.  Formation of community government.

II. Following majoritarian policy.

III. By providing equal representation of language groups.

IV. By providing additional powers to local governments.

Options :

(A) Only I, IT and III are correct.

(B) Only I, III and IV are correct.

(C) Only I, IT and IV are correct.

(D) Only II, IIT and IV are correct.

6. How is democracy better than other forms of Government ? Choose the

most appropriate option. 1
(A) It enhances the dignity of individuals.

(B) It promotes equality among elites.

(C) It promotes tendency of private ownership only.

(D) It increases the individualism.

I 32/6/3 Page 7 of 32 P.T.O. I



~ EXE

e 3 3 S e 3 Fron 3 ek & e et 5 o T e
T T HITTT :

I W1 o 3TYR T TST M & < SATET Tehichd TR FS1egd g7 & |

I, TST o SR W T S H Y6 Tgel i 31 31ferss glaemes g T g |
ITI. 79T 3 SR TR T o fmior & g ewen Fusi gs 2 |

IV. 9TST o 3TTUR T TSAT o TS § WRATT WIS 3T forehrd g3 |

ferepen

(A) Haet I, 119 [ 5 & |

(B) o IL I IVERE |

(C) HaA L, IIIVEHERE |

(D) Haal LTIV E |
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&) T e LRI TR
(B) ey HTEfehet Y S
(C) o T wAR T AT
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7. Read the following statements regarding the creation of States on the
basis of language in India and choose the correct options : 1
I.  Formation of states on the basis of language made the country more
united and stronger.
II. Formation of states on the basis of language made administration
easier.
III. Formation of states on the basis of language has weakened the
federal structure.
IV. Formation of states on the basis of language led to the development
of Indian languages.
Options :
(A) Only I, IT and III are correct.
(B) Only II, IIT and IV are correct.
(C) Only I, IT and IV are correct.
(D) Only I, IIT and IV are correct.
8.  Choose the correct option related to Union list. 1
(A) Police, Foreign affairs, Agriculture
(B) Trade, Irrigation, Marriage
(C) Education, Commerce, Banking
(D) Currency, Communication, Defence
9.  Choose the correct option related to the regional political parties of India : 1
Party Name Election Symbol State
(A) Rashtriya Lok Dal Mashal Uttar Pradesh
(B) Telugu Desam Cycle Andhra Pradesh
(C) Telangana Rashtra Samiti  Kite Telangana
(D)  Shiromani Akali Dal Chashma Punjab
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1. &aEr S
111 fereeh
forepen

(A) 1, 1T 3ARIII
(B) II, I 3R I
(C) I, TII3RII

(D) 1II, I3RIII
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10. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option. 1
Assertion (A) : There was civil war in Sri Lanka.

Reason (R): An Act was passed in 1956 to secure dominance of Sinhala

community on the government.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.

(D) (A) 1s incorrect, but (R) 1s correct.

11. Arrange the following regions of Italy in the order of their inclusion in the

Unified Italy and choose the correct option : 1
I.  Venetia

II. Savoy Sardinia

ITI. Sicilies

Options :

(A) I IT and III

(B) IIL IITandI

(C) L IITandII

D) II I and III
I 32/6/3 Page 11 of 32 P.T.O. I



=i -

12, TEd! wraTed) § gftaur iRt 1 Tet SRiel wet Ffafea 9 frm ww g wfag @i e ¢ 1
(A)  ferfererar 1 w18¢
(B) HIH 1 v
(C) =r=reh W&

(D) STk A&

13. fr=ferfaa tfaerfees seisti ot Sreshites ®9 ¥ afeyd Hife 3R gt fowhea 1
T HI 1
I i Bt wee
II. T3 HHITH 1 YR HANHT
II1. STt AT hl 33T
IV. <R-= i ge
forpe
(A) I, 1L I AR IV
B) IV,IL I 3R
(C) IV, II, I 3RIII

(D) I, 1L, IV 3 III
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12. In the 17th century the city El Dorado in South America became famous as

which one of the following ? 1
(A) City of Diversity

(B) City of Gold

(C) Small pox City

(D) Trading City

13. Arrange the following historical events in chronological order and choose

the correct option : 1
I.  Second Round Table Conference

II.  Simon Commission arrives in India

III. Beginning of Dandi March

IV. Incident of Chauri-Chaura

Options :

A) L IIL III and IV

(B) IV,I, Il andI

(C) 1V, II, I and ITT

(D) 1,11, IV and III
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b.  wEl
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ferpen

(A) ai  b-i i
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(C) adi  b-iv ¢

(D) adiv b c-ii
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(A fegmm sed fafties
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14. Match the Column-I with Column-II and choose the correct option from

the following :

Column-I

(Publications)
a. Bengal Gazette
b.  Kesari
c. Ramcharitmanas
d. Samvad Kaumudi
Options :
A a-1 b-i1 c-1il
B) a-i1 b-iii  c-1v
(C) a-i1 b-iv  c-1
(D) a-iv  b-i c-ii

15. Find the odd one out.

(A)
(B)
(©)

D)

I 32/6/3

Column-II
(Authors)
1. Tulsidas
1. James August Hickey
1i. Ram Mohan Roy

iv. Bal Gangadhar Tilak

d-iv

d-ii1

d-ii1

Hindustan Computers Limited

Hindustan Unilever

Bharti Airtel Limited

Indian Postal Service
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16.‘ Fr < e few e | 3 iR (A) 3R SHROT (R) § | T ST Rl eAYEeh e
3R T2 forened o1 =9 KIS |

AR (A) :  WRA | T a0 o Aeay o &9 H bR fohan ST B |

SO (R):  Towa S, YA § $9 1 YA o HIEAH & &9 § I8l Y¢H hidT & |
ferpea :

(A) THI (A) W& (R) W&l 8 W (R), (A) sl Ul =T ¢ |

(B) EHI (A) Tl (R) §l &, g (R), (A) 1 o ARG T & |

(C) (A) W& 8, Wg (R) Toa 2 |

(D) (A) T &, 7g (R) 981 2 |

17. ‘mgret el T amier TSR e sAfafrm — 2005 @ 3aR fafofaa & & wF o

e TR TR 7

(A) TR @t frerfiEt & fore 100 fe7 w1 IsmR giferaa s 2 |

(B) TR gt arfior et & forw 200 e o1 s gifaa et 2
(C) HTHR gRI 39k Jid UTHIUT & T BT o Sl IS [T JATaT1 8 |

(D) USHTR ¢ § 3H e T TR SATHTIRIIT ohl STUSHIRY WI=lT J€TH ohic 2 |
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16. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option. 1
Assertion (A) : Rupees is accepted as medium of exchange in India.

Reason (R): The World Bank legalises the use of rupee as a medium of

payment in India.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.

(D) (A) 1s incorrect, but (R) 1s correct.

17. Which of the following provisions have been made under the ‘Mahatma

Gandhi National Rural Employment Guarantee Act — 2005 ? 1
(A) Government ensures 100 days of employment for all residents.

(B) Government ensures 200 days of employment for all rural residents.

(C) Government provides grains in exchange of work in rural areas.

(D) Government provides unemployment allowance to the beneficiaries

in case of failure to provide employment.
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19. oo & fore “wfa =afea s frmfafaa # @ o amge 2 7
(A) wFF Y forehra HrishA
(B) fava T |
(C) fova MR WA
(D) fowa s

20. 1 T FoREM B | BVl B 38 01 H Tavhdr 8 | fAfARad § | S 8 FO1 6
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forepey
(A) Haa [, [IIIMIVHL B | (B) Haa [, [I AR I HEE |
(C) et IL I IR IVHL B | (D) HaA [, [IARIVEE R |
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18. Read the following statements for stimulating the process of globalization

and choose the correct options : 1
I.  Government reduces trade barriers.

II.  Government reduces competition among producers.

III. Government reduces import and export taxes.

IV. Government removes restrictions on foreign investment.

Options :

(A) Only I, IT and III are correct.

(B) Only II, IIT and IV are correct.

(C) Only I, III and IV are correct.

(D) Only I, IT and IV are correct.

19. ‘Per capita income’ is criterion for development of which one of the
following ? 1

(A) United Nations Development Programme
(B) World Health Organisation

(C) World Trade Organisation

(D) World Bank

20. Rama is a farmer. She needs loan for agriculture work. Which of the
following sources of loan will be beneficial for Rama ? Choose the most
appropriate option : 1
I.  Bank
II. Agricultural Trader
III. Self-Help Group
IV. Government
Options :

(A) Only I, III and IV are correct.

(B) Only I, IT and III are correct.
(C) Only II, IIT and IV are correct.

(D) Only I, IT and IV are correct.
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(At Tyl )
21. (a) W EiTaH § afofd TufRuerd 1 sgrar ¢ o fole iE g 3UTT sy | 2
T
(b) &S ! HTESeh SiTeH H HFTGRI I GHTR=d i &g I8 &l U™ 13T | 2

22. ITEEANT HGITH o QR IFAH 6 ST HIIGU o (T8 TS <hl HEURT hl WEHIT | 2

23. S U9 HIR Wil 4 Sefientor st ufshat ol fohd TepR sreran feam ¢ e hifse | 2
24. @Sl o TEI0 2] IS o 3T ST | 2
Qug -1 (5x3=15)
(STg-3IadT I )
25. SIOTiSeh N <l fehel T fersraaTai ht =amen shifvw | 3
26. USHTR YGH i H JTeIfireh &eh <hl fient o auid shiferT | 3
27. (a) T UG o TTC ITRGTRA fehedil il hIhI ohi T SHITT | 3
JAYaT

(b) ST SGHUT h TeTT ITGRA Teohegl < ShTeh! h1 TIE HINT | 3
28. TETHh TR TehTcHeh ITEH STaET & &Y ICTal0T Higd T T8 HifWT | 3
29. 1815 T %M § TATIUA ElGITC] ITHT G sl HH-JUMTeA! ol SR il | 3
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SECTION -B (4x2=8)
(Very Short Answer Type Questions)

21. (a) Suggest any two measures to promote secularism as mentioned in

the Indian Constitution. 2
OR
(b) Suggest any two measures to ensure participation of women in
public life. 2

22. Explain the notion of Swaraj for plantation workers of Assam during Non-

Co-operation Movement. 2

23. How did information and communication technology promote the process
of Globalization ? Explain. 2

24. Suggest any two ways for the conservation of minerals. 2

SECTION - C (5x3=15)
(Short Answer Type Questions)

25. Mention any three features of commercial farming. 3

26. Describe the role of primary sector in providing employment. 3

27. (a) Explain any three factors responsible for water pollution. 3
OR

(b) Explain any three factors responsible for air pollution. 3

28. Differentiate between federal and unitary form of government with examples. 3

29. Explain the functioning of conservative regimes established in France in
1815. 3
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(Sef—<aliT W)

30. (a) foohm o foTu AresI(eh Glawnati o Haw 1 Yoo il | 5
YT

(b) ua feepra fdid fopm Teem gr weptfdra &t STt @ 2 39 Fuld o <uni < wed gett

o fo1u o1 ATaeuet <61 W= foman ST @ 39h1 samen shifvu | 5
31. (a) Siiie Hal i G&I foewarsti sl e it | 5
JHYAT

(b) WG | THTE IS o fofi= A U 3Heh! SATERIhal3Tl shl SIRed Shifsi |

3+2=5

32. (a) “1956 T SHIC T ST 3R 37T HALTH TaHI + #ficis! # g TR & 9 5
THUE T &9 o TR |7 39 e 61 gfE Hifu | 5

YT

(b) “Tn ¥ "Rl faft= Tggl % we fovam 1 serd 8 1”7 39 weF i gy fifve | 5

33. (a) YZUIEEH(d H T@ WRA H UTS T STl TIgardi shi foreiwanati shi smen shifve | 5
YT

(b) HEUT HEBIA & ATHA 4 WRA I 7RIS ST bl fohd TR wHIfera fepem 7 =men

HIfST | 5
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SECTION - D (4 x5=20)
(Long Answer Type Questions)

30. (a) Examine the importance of public facilities for the development. 5
OR
(b) Which organization publishes the Human Development Report and
what criteria does it use to compare countries ? Examine. 5
31. (a) Explain the main features of alluvial soil. 5
OR

(b) Explain the various stages of resource planning and its need in

India. 3+2=5

32. (a) “The law enacted in 1956 and other Constitutional Provisions led to
major conflict between the two communities in Sri Lanka.” Support

the statement. 5
OR

(b) “Power sharing increases trust between different groups.” Support

the statement. 5

33. (a) Explain the features of manuscript found in India before the advent

of printing culture. 5

OR

(b) How did the advent of print culture affect the poor people in India ?
Explain. 5
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34.

35.

qE-F (3x4=12)

(g /ad AT 33)

Frferfaa @ =i ufew 3 3o = feu e vt & 3w fafaw
Taadn fead 61 9, 26 S 1930

“gI Tovar 2 T forefl off oomer Y g vRd™ sHaT 1 off a8 U el
(inalienable) PR B foh 378 3! firel, AU Hed o1 &t el 3T Sfiaw 6 @ef
JTarvshard gl &1, e 38 311 e o uftygel sraer firet | 20T =7 ot forvama 2 6 =fe
13 WY TREHR 31U ST b1 3 AR H Fird Wl & 3 a8 a1 a1 ol 3t TR
%! TG AT IH FHA FATH HT h1 IMHR g | WRA § TSramT SRR A 7 had HRAT
ST ol Taadl § dfad feram & Sfces I8 SHaT o1 Iwer feram & 3T <1 w1 aATiies,
TSI, HTERideh T STTEATcHe TR X 8 ot a1 2 | SHfAY g9 fovamd & T via
1 ATEr ®9 F {577 o |11 379+ Tl FEEi Sl THTH hleh IU1 RIS ITH T A1 |7
(34.1) ¥RA H TS oh! TN HAThR T I T1=T 2
(34.2) €id T forE TR hl HLhR & TH H1 vl & ?
(34.3) WA H Torart & < fepegl 1 TuTa <hl SAREAT hify |

Frferfaa & =i ufew 3t 35 = feu e et & 3w fafaw
TSHITAeh GEl bl STEvhal

TSifeeh getl b1 3¢ Tfaffre W SMeTia AArhdiiieh STaedl o 3UR o 91 el
2 | B9 UG I 8 foh 98 TH b fore ufafaftre anenfta ofishas <l siewd &It & | 5
U o 3R et B Ad 2 a9 I fafi=1 gei T 31ei-37en foami &bl g 3 awehi
T TS T A o oI fepet Hieem 1 Wit shi s it 2 | Tl semei | o wiafafern
S HTY T hI ST BT 2 ATk Teh FIHIR TR <1 37 Bl Toh | 375 TR ol qHLH
H AT I W PN T, AAfT sam 3R Aifaei 1 gueq srerer oty @ & foe
IYSHAOTT S S BIcht B | Teeh Siafi-Twepr st Tl St oft S Bt &, TsHfeh gt
3! U LA & | 39 TE &9 g Fohd & foh UsTHITreh Gt cllehadl ohl Ueh STHER 714 2 |
(35.1) ‘TfdTeaTcHe lehda’ T 3 TI8 HIfT |
(35.2) TSIl T fohH TehR SHHAA T AT hid & ?
(35.3) WS Tl ol TAehad o ToTT 3TTE¥eh 31 1 HIHT ST & ? SATEHT <hifaTy |
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SECTION - E (3 x 4=12)

(Case/Source Based Questions)

Read the following source and answer the questions that follow :
The Independence Day Pledge, 26 January 1930

“We believe that it is the inalienable right of the Indian people, as of
any other people, to have freedom and to enjoy the fruits of their toil and
have the necessities of life, so that they may have full opportunities of
growth. We also believe that if any government deprives people of these
rights and oppresses them, the people have a further right to alter it or
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but based itself on the exploitation of the
masses, and has ruined India economically, politically, culturally and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.”
(34.1) Why was Swaraj considered as an inalienable right of the India ?
(34.2) Which type of government is supported in the source ?
(34.3) Explain any two effects of British rule in India.

Read the following source and answer the questions that follow :
The Need for Political Parties

As we have seen, large societies need representative democracy. As
societies became large and complex, they also needed some agency to
gather different views on various issues and to present these to the
government. They needed some ways, to bring various representatives
together so that a responsible government could be formed. They needed a
mechanism to support or restrain the government, make policies, justify
or oppose them. Political parties fulfil these needs that every
representative government has. We can say that parties are a necessary
condition for a democracy.
(35.1) Explain the meaning of ‘representative democracy’.
(35.2) How do political parties shape public opinion ?
(35.3) Why are political parties considered a necessary condition for a

democracy ? Explain.

2
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36, Freforad S i R i 3Es 1) fow o SRt 35 v R - s
S Y —

Siehi o TS TTHIVT &1 H & 39T 1 Toh 3131 €I T AIfaal 8 | Fghil Al o
TEE 319 GETEHT b1 F &1 H§ TaINT o fo1C Teha HId & | s YehR 1 Taehrt afirfert
g 8, 99 — fRumi, gIRU w ol wegh sonie ol Heerl afufat |
Sk TEhR T FHYE % FoIieh Teh T § 1H Il © | 38 2300 foham g £ |
I 9 AT | SHI TTH A & | 39 1 Yol 3l ROMEGR A 5T, 39 TR AiHfd 3
Sk T ST T ATH TR 8 | 39 IS 1 SEAUTSl HEEi bl ol ¢ b foIq FohalT SITT 2 | 918
0T AN 6 S1G %l hl QU G & TRl ST HhelT & |

R HEehI! TN HY TR TS, Wl qUT 1Y AR FHLA, AST] Tohe, T FM
3R 371 ol Wb o6 @it o ToTw kT gaam st 2 |

(36.1) Heehr witfal o g fean S et kot forer 8157k o 37Tl AT ? 1
(36.2) T GERIT THE STel ford—arwur fohd TohR T hid & 7 1
(36.3) TEHRI HiHfcRI shl HRITUITS shl ST HITT | 2
ECLC @2 +3=5)

(Wit e el a9 )

37. (a) feuwwu vnd & UsHifaes Wa-aEiE § € M A’ 3B % ®9 3 @wie 1 @ |
TFfctRad STepTl <61 FETedt & 378 TgdTiY 3R 3o Fal AW 34eh g Efi=h 718
@3 W fera :

A, I8 T J& WA UFT g ol JARERE 1927 § 3Tt foman 7 | 1
B. % T SRl R e S 5 fret HS1gU % TR ol "qed TR | 1
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36. Read the following source and answer the questions that follow : 4

Loans from Co-operatives

Besides banks, the other major source of cheap credit in rural areas are
the co-operative societies. Members of a co-operative pool their resources
for co-operation in certain areas. There are several types of co-operatives
possible such as farmers co-operatives, weavers co-operatives, industrial
workers co-operatives etc.

Krishak Co-operative functions in a village not very far away from
Sonpur. It has 2300 farmers as members. It accepts deposits from its
members. With these deposits as collateral, the co-operative has obtained
a large loan from the bank. These funds are used to provide loans to
members. Once these loans are repaid, another round of lending can take
place.

Krishak Co-operative provides loans for the purchase of agriculture
equipments, loans for cultivation and agricultural trade, fishery loans,
loans for constructions of houses and for variety of other expenses.

(36.1) Which sector includes credit facilities offered by Co-operative

Societies ? 1

(36.2) How do Self-Help Groups access external funding ? 1

(36.3) Explain the functioning of Co-operative Societies. 2
SECTION - F (2+3=5)

(Map Skill Based Questions)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political outline
map of India. Identify them with the help of the following information
and write their correct names on the lines drawn near them :

A. The place where the session of Indian National Congress took
place in 1927. 1

B. The place where Mahatma Gandhi led the movement of cotton
mill workers. 1

I 32/6/3 Page 27 of 32 P.T.O. I



e+ Prerfefaa e Srerr gt Qe 35 o s ST 37(a) F W E |
37. (a) (1) 38 AW 19 fRau Tt aredta TS Sid 1 1927 § SAfaem g3 o |

(ii) 39 UM 1 A ARG & HaTew i = et 7rgu o STGIe i =Iqedl T |

37. (b) WRA % 3EI UeHifeeh W@T-uHE R e 3§ & fhel € 1 Sugw faei @
TuTisT 37K 37 T ferfiae :
(i) U fRrd U At a1y ueH
(i) TSI feurd e wgE wggl v
(iii) NS AR H fCd WRA 1 Teh Yq@ ot &3
(iv) I e e Teh FAoTereh Fotl w
e : FrafaRas w Faw gt Wi & foe s @ 37(b) % W w E | el
i <1 I faf |
37. (b) () 38 TUH 1 ferfgu Stat gote # ush SIRig o1y aae fRd 2 |
(i) 39 A 1 19 faRaw sref errd | v T gt o fr B |
(i) T IR frd v 9t & o1 9 ferfla |
(iv) IR YT o 38 LI 1 114 feRau srat smmifers Fott oheg AT R |
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Note: The following questions are for Visually Impaired Candidates
only in lieu of Question No. 37(a).
37. (a) (1) Name the place where the session of Indian National Congress
took place in 1927. 1
(1) Name the place where Mahatma Gandhi led the movement of
cotton mill workers. 1
37. (b) On the same outline map of India locate and label any three of the
following with suitable symbols :
(1) An International Airport located in Punjab.
(11) A major Sea port located in Gujarat.

(111) A major oil field of India located in Arabian Sea.

[ T

(1v) A Nuclear Power Plant located in Uttar Pradesh.
Note: The following questions are for Visually Impaired Candidates
only in lieu of Question No. 37(b) (Attempt three).

37. (b) (1) Name the place where an International Airport is located in

Punjab. 1
(11) Name the place where major sea port is located in Gujarat. 1

(111) Name an oil field of India located in Arabian Sea. 1

(1iv) Name the place where nuclear power plant located in Uttar

Pradesh. 1
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Uy 9. 37 & fou gty
Map for Q. No. 37
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